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Heidegger - slokyq = 121


(rhodes piano)
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  
  



5 
Sloka 1)
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  
  



9                         

        

13     


Sloka 2)


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  
  



18                         

        



22           

  

24 
Sloka 3)

mezi Sloka 2 a 3 je mezihra (bez kláves)

                         

  
  



28                          

  
    

32             

    

34

              

      
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